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The means of the two-factor ANOVA.  The Ai are the levels of factor A, the Bi are the levels of factor B. A plus sign indicates the mean of an Ai, over all (i. e., both) levels of factor B, and an open circle indicates the mean of a Bi, over all (i. e., both) levels of factor A.
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(a) No effect of factor A, small effect of factor B (and if there were no effect of B the two lines would coincide), and no interaction of A and B. 

(b) Large effect of factor A, small effect of factor B, and no interaction 

(c) No effect of A, large effect of B, and no interaction, 

(d) Large effect of A, large effect of B, and no interaction, 

(e) No effect of A, no effect of B,  interact. between A and B. (f) Large effect of A, no effect of B, with slight interaction, 

(g) No effect of A, large effect of B, with large interaction, 

(h) Effect of A, large effect of B, with large interaction.
